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M.A, Previons (Economics) Examination, August/September 2008
Directorate of Correspondence Course.
Paper — II1 : QUANTITATIVE METHODS FOR ECONOMISTS {Freshers)

Time : 3 Hours _ Max. Marks : 80

Note : 1) Answer FIVE of the faﬂéw:’ng guestions choosing not less than
TWO from each Part. .
2) All quesfions carry equal marks,

PART — A

1. IfD =100 - 3p and S = 50 + 2p are the demand and supply functions of a certain
commodity, obtain the equilibrium p and guantity. When a specific tax ol
Rs. 3 per unit 1 levied on supplier, find Yac now equilibrium vafues.

Betyd nondy D = 100 - 3p =2 e :}oj:a'ha;_i‘; S =50+ 2p l“mﬂ "";’i:ﬁrwa" ]
T, @ R neRy fomkon o, Ryldon
WTETOS Aebdorei i m_y JE:SR

map‘amaa. 16

A
. N, .
2. Find the market equilibri K the following damand and

supply functions. g
D:x=20-5p—p° "y %?Zs
S:x=6pt+5p—3 B A ﬂ"?}g\
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D:x= 2{} — Sp=7*
S:x=6p + S5p-5 _
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3. a) The product transformation curve of 2 firm is given by
(x — 80) {y - 60) = 1200 _
find the maximem amount of x and y the firm can produce. What amount of
x and y should be produced in order to have x =y 7
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bj-Pareto’s law of distribution of income for an econbmy is given by
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'Find bow many have incorne in between Rs, 3,600 and 10,000 7
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4. For the following average cost functig
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6. a} Define Range, Mean deviation and standard deviation.
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by Calculate variance and Co-efficient of variation for the following data.
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7. a) Distinguish between positive and negative correlation. :
AR B> ad::ms{u’ ﬁ&in‘cwa;ﬁaﬁ@ SEAN. 6
b} Calculate Karl-Pearson's co-efficient of correlation for the following data. -
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Y 40 150 {90 80 [70 |60 45 | 10

8. a) Explain the components of time series ?
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b} Fit & straight line trend to the fignyes given below by the methad of least
squares.
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9. Construct Fisher's ides? infex numggm' fur the fbk% data.
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%2 | Price [Quantity | Price | Quantity
d | dann| wd | Bome
A 10 100 15 a0
B 15 200 20 oy
¢ 20 | 30 25 a0
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